

Math 151 Sect. 4.4 p. 237 [1-29, 37, 39] odd

$$\textcircled{1} y = e^{4x} \quad \begin{cases} g(x) = 4x \\ g'(x) = 4 \end{cases} \quad \textcircled{3} y = -8e^{2x} \quad \begin{cases} g(x) = 2x \\ g'(x) = 2 \end{cases} \quad \textcircled{5} y = -16e^{x+1} \quad \begin{cases} g(x) = x+1 \\ g'(x) = 1 \end{cases}$$

$$\begin{cases} y = e^{g(x)} \\ \frac{dy}{dx} = g'(x)e^{g(x)} \end{cases} \quad \frac{dy}{dx} = -8[2e^{2x}] \quad \frac{dy}{dx} = -16[(1)e^{x+1}]$$

$$\frac{dy}{dx} = -16e^{x+1}$$

$$\begin{cases} g(x) = 4x \\ g'(x) = 4 \end{cases} \quad \frac{dy}{dx} = 4e^{4x}$$

$$\textcircled{7} y = e^{x^2} \quad \begin{cases} g(x) = x^2 \\ g'(x) = 2x \end{cases} \quad \frac{dy}{dx} = 2xe^{x^2}$$

$$\textcircled{9} y = 3e^{2x^2} \quad \begin{cases} g(x) = 2x^2 \\ g'(x) = 4x \end{cases} \quad \frac{dy}{dx} = 3[4xe^{2x^2}] = 12xe^{2x^2}$$

$$\textcircled{11} y = 4e^{2x^2-4} \quad \begin{cases} g(x) = 2x^2-4 \\ g'(x) = 4x \end{cases} \quad \frac{dy}{dx} = 4[4xe^{2x^2-4}] = 16xe^{2x^2-4}$$

$$\textcircled{13} y = \underbrace{x}_u \underbrace{e^x}_v$$

$$\textcircled{15} y = \underbrace{(x-3)^2}_u \underbrace{e^{2x}}_v$$

$$\textcircled{17} y = \frac{x^2 \leftarrow u}{e^x \leftarrow v}$$

$$\begin{cases} \frac{dy}{dx} = uv' + vu' \\ u = x \quad v = e^x \\ u' = 1 \quad v' = e^x \end{cases} \quad \frac{dy}{dx} = (x)(e^x) + (e^x)(1) = xe^x + e^x$$

$$\begin{cases} \frac{dy}{dx} = uv' + vu' \\ u = (x-3)^2 \quad v = e^{2x} \\ u' = 2(x-3) \quad v' = 2e^{2x} \end{cases} \quad \frac{dy}{dx} = (x-3)^2(2e^{2x}) + (e^{2x})(2(x-3))$$

$$\begin{cases} \frac{dy}{dx} = \frac{vu' - uv'}{v^2} \\ u = x^2 \quad v = e^x \\ u' = 2x \quad v' = e^x \end{cases} \quad \frac{dy}{dx} = \frac{e^x(2x) - (x^2)(e^x)}{(e^x)^2} = \frac{2x - x^2}{e^x}$$

$$\textcircled{19} y = \frac{e^x + e^{-x} \leftarrow u}{x \leftarrow v} \quad \begin{cases} u' = e^x + (-1)e^{-x} \quad v' = 1 \\ \frac{dy}{dx} = \frac{x(e^x - e^{-x}) - (e^x + e^{-x})(1)}{x^2} \end{cases}$$

$$\textcircled{21} y = \frac{10,000 \leftarrow u}{9 + 4e^{-2t} \leftarrow v} \quad \begin{cases} u' = 0 \quad v' = -8e^{-2t} \\ \frac{dy}{dx} = \frac{(10,000)(-8e^{-2t}) - (9 + 4e^{-2t})(0)}{(9 + 4e^{-2t})^2} \\ = \frac{-80,000e^{-2t}}{(9 + 4e^{-2t})^2} \end{cases}$$

$$\textcircled{23} f(z) = (2z + e^{-z^2})^2 \quad \begin{cases} g(z) = 2z + e^{-z^2} \\ g'(z) = 2 + (-2ze^{-z^2}) \end{cases} \quad f'(z) = 2(2z + e^{-z^2})(2 - 2ze^{-z^2}) = 2(2z + e^{-z^2})(2 - 2ze^{-z^2})$$

$$\textcircled{24} y = 8^{5x} \quad \begin{cases} a = 8 \\ g(x) = 5x \\ g'(x) = 5 \end{cases} \quad \begin{cases} y = a^{g(x)} \\ \frac{dy}{dx} = (\ln a)a^{g(x)}g'(x) \\ \frac{dy}{dx} = (\ln 8)8^{5x}(5) = 5(\ln 8)8^{5x} \end{cases}$$

$$\textcircled{25} \quad y = 2^{-x} \quad \begin{cases} a=2 \\ g(x) = -x \\ g'(x) = -1 \end{cases}$$

$$\begin{aligned} \frac{dy}{dx} &= (\ln 2) 2^{-x} (-1) \\ &= -(\ln 2) 2^{-x} \end{aligned}$$

$$\textcircled{26} \quad y = -10^{3x^2-4} = (-1) 10^{3x^2-4} \quad \begin{cases} a=10 \\ g(x) = 3x^2-4 \\ g'(x) = 6x \end{cases}$$

$$\frac{dy}{dx} = (-1)(\ln 10) 10^{3x^2-4} (6x)$$

$$\frac{dy}{dx} = -6x (\ln 10) 10^{3x^2-4}$$

$$\textcircled{29} \quad s = 5 \cdot 7^{\sqrt{t-2}} = 5 \cdot 7^{(t-2)^{1/2}} \quad \begin{cases} a=7 \\ g(x) = (t-2)^{1/2} \\ g'(x) = \frac{1}{2}(t-2)^{-1/2} (1) \end{cases}$$

$$\frac{ds}{dt} = 5 [(\ln 7) 7^{(t-2)^{1/2}} (\frac{1}{2} (t-2)^{-1/2})]$$

$$\frac{ds}{dt} = \frac{5}{2} (\ln 7) 7^{(t-2)^{1/2}} (t-2)^{-1/2}$$